EARAROBEEIERT — 2 N— IBISH —F

2017438208 (A) 18m=%14H

m D QEEEEIISHER C1 ¥oR— BRI Y
[A&4] 1 7 :400,000 @ ~ 2 3#%:100,000  ~ 3 3#&:50,000 3 ~ 43#:30,000” . 5 3&:20,000 ™
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
VAEEE :31. -1-1- . — mEaE (FH)
1Bsltns/7z0- " S [ B U Gy | P
R:¥rinq4o— B:T7A4H¥ N7 7 — L4
RFEED :32. == . — AR ()
2 9|V b 4 6 i 1 (362)9 2-2-2-2 | 40.7 2 (i?;) g.g;;g,gﬁ
ANXRTIVG BV /T TII— b N 455
i 5 it 4 | FERSH 1:33.6 7-7-3-3 | 41.1| — 4 456 | BlIE— (SH)
3Bl 77VR 54.0 3) (o) | JEE—E8
LihrxexRY BFq-—Tt—% SRS
o = 4 6 | B)IlEKEL 1:33.7 5-5-6-5 |41.0| — 3 517 | EEE— (H)
4188 XT3+ %5 56.0 (1/2) (+4) BEHEH
xR TAANAN BiIIM494 X a1 L1 T14577—4
T .33, -3-3- . - EEiEE (&)
N . NEZDELESL "5 50 7 IR R i e it -
R4 TATv— BN =Fv X =Y Tr—L
— 5 AHER :34. -9-9- . — B (FH)
6l1l1|TA5n815- H 6 A 1(3;1)6 9-9-9-8 | 41.3 5 (4_825) E%ﬁz
RiFaN=h b= BiehIFovA P
N < s VN FN : —6-7- — A — (FH)
7155|797 271 it 5 S 1.(314>.8 6-6-7-7 | 41.8 8 (4_521) i
L:TUHA XTI K B:F7av 48— aE JE—
- B4 | FEMER 1:35.3 8-8-8-6 | 42.3| — 6 494 | BIRTERE] (BH)
EH 3| AT % 54.0 2172 (a) | IR
Z:AyavAAYy BYI-—T1HAT R&I4%
S, i 5 | BRE—H 1:35.5 3-4-5-9 | 43.0| — 7 414 |HTHBER (FH)
9177 A= 54.0 ) (o) |A#Ed
L:T7ReL Y L—> B:VILNLATTI— NS
® I—F—@EBIERL
13—4— 6,9,7,4,8,5,2,3,1
Ao=5"= 6,9,4,7,8,5,2,3,1
3T—7— 6,9,(2,4),7,8,5,3,1
AT =gr= 6,9,2,4,8,3,5,1,7
[ RN
-y 6 1800 | [ 74 K 6-9 210M | | # = 6-8 170M | | 3= 2-6-9 1,420
# B 6 1204 2-6 360F B E 6-9 310M EE 6-9-2 3,280
9 130M 2-9 460M BB 6-9 490M
2 160

ABICOVWTRDTEEERROODE. TR LIV,




